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08 FefiiE
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0A A9=F BRELICAE S,
0B BjoER GR)
0C Bl (c)

J:'fﬁt“\yl\o 135 km/h L){J:_C‘%Ebo %%H(iﬂ_{_) l/o

THRIEWR,

10 | A=JA—LDE
11 BES




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 2.619 %R | 281 197 158 | 375
FIRDHIEREL 1.146 ub .249 81 12.0 1.55
FAHAEIER (Z{LEK) DFEIERER 1.618 B 269 278 143 2.65
F 55 U
KB EDNEIT— 42 130 HA g
KEFEDERT—4(% 144 A SERE () (., [BRE GE) x 0.0 JETHERA.
\ FADR | corm | T2 | 55 | RE | POE 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
2 FeARAEE HHE 135 263 2 18 R 301 5 24 6 5 3
6 FHimahFl Wiz 104 234 1 3 R 268 3 15 4 4 3
31 REVHE EOD 142 232 10 0 L 266 24 12 5 3 3
42 T J35>0 MBAC 78 248 16 0 R 284 70 12 3 3 2
5 FHBE—& niz 131 232 12 6 R 266 31 17 7 4 3
40 LEHET [0 57 113 255 11 1 RG 292 33 13 9 3 3
8 KEFFE BBLFE 96 243 3 8 L 278 11 21 8 5 3
27 BExE T=ICULSF 102 256 6 0 R 293 20 12 2 3 5
45 1. JRY> <ITFA 73 181 7 0 R 207 33 12 9 3 3
9 B¥AE DEE 78 226 2 0 L 259 9 12 9 3 3
44 JVHIESE W\ T 73 268 5 0 R 307 23 12 9 3 3
1 T FEfg EDSIZR 62 209 2 0 R 240 11 12 4 3 3
7 i |=i=GIN oV =3 64 202 1 0 L 231 5 12 3 3 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
19 SRt KU~ 26 190 2/3| 5.66 170 RO 270 142 128 57 9 7 0 8
49 M. RILY> RBEA 31 2091/3| 641 250 RO 410 150 132 54 5 4 1 5
21 FI> W Sz A 25 164 2/3| 5.14 270 LO 430 149 128 51 3 5 1 4
17 JIFERER MO0 16 83 4.99 240 LO 390 139 122 41 4 6 1 4
23 BAREL gI'E 55 41 2/3] 4.32 110 RS 170 140 128 20 14 10 0 6
41 XRERD HEh 79 871/3| 10.31 40 RO 70 153 129 30 12 9 0 12
69 JINFRIEA ZIE¥U 58 31 7.55 90 LS 140 131 122 22 10 16 2 7
13 F=y; LI Lht 56 48 2/3| 8.32 150 LO 240 142 133 28 9 10 3 5




N A | o | P
e | x@T | B2 |
| : 15
AEFTBOMIEFE 1377 %R | 301 104 133 | 350
FIRDMHIEZRE 1.146 ub 212 9 14.4 3.50
FAHAEIER (Z{LEK) DFEIERER 1.173 B 267 113 13.7 3.50
F 55 v
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR () (2. [ERE GE) x 0.9 JETHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
1 SAEH F2YinY=3 144 292 4 8 L 335 5 17 8 4 4
7 HEE = 142 252 1 2 R 289 1 13 4 3 3
53| J. /RDANZIL | (FDOLVEDS 112 247 12 0 L 283 19 12 3 3 3
33 21LF0E (=ymlbRerS 142 269 23 1 R 308 29 13 7 3 3
4 | U J)\L>F1> | IFNATA 140 228 31 3 RS 261 40 14 9 3 2
6 =EAIE HOEE 136 302 2 2 R 346 3 13 5 3 3
36 JIRES iz 117 268 4 0 L 307 6 12 6 3 3
2 BlI== DLV 126 244 1 0 R 280 1 12 2 3 5
9 REEL LWES 64 150 0 0 R 150 0 12 7 3 3
68 ZEEN OB 52 256 0 0 L 293 0 12 6 3 3
8 HAE— zl35%5 73 216 2 0 L 248 5 12 3 3 3
31 A4 F W350\5 51 193 1 0 L 221 4 12 7 3 3
60 —HRIEE o2 P 54 150 0 5 L 150 0 24 8 5 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
25 EELLETE J=TYoxE 26 180 2/3| 6.48 200 RS 240 148 129 55 8 5 0 6
11 [Z2p57) KLDD 15 100 2/3| 7.42 290 RO 340 152 129 54 7 4 2 3
19 A)NHEFR Luhvo 27 178 1/3] 6.41 270 LO 320 138 123 53 6 7 0 5
22 EHES FI 15 27 1341/3| 6.10 420 RO 500 144 122 41 5 3 1 3
26| ASEKER TS 52 37 7.54 370 LS 430 141 125 26 3 5 2 3
65 HAREE HLEE 65 68 2/3| 8.00 330 RO 380 146 129 30 6 4 2 4
21 AR fE— FOEM 63 63 6.14 290 RO 340 145 126 26 6 4 0 5
12 MEE (A2 65 62 1/3] 9.96 220 RS 250 152 126 30 7 5 3 4




N A | o | P
e | x@T | B2 |
| : 15
AEFTBOMIEFE 1.374 %R | 302 147 166 | 265
FIRDMHIEZRE 1.146 ub 244 2 19.8 2.70
FAHAEIER (Z{LEK) DFEIERER 1172 B 279 149 17.8 2.68
F 55 5
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR () (2. [ERE GE) x 0.9 JETHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
6 IRARE A IhEE 144 262 16 8 R 300 20 17 6 4 4
54 E i SAODB 119 222 0 28 LS 254 0 24 4 5 3
7 EBAE 5&5D 140 316 17 19 R 362 22 23 8 5 4
5 A S X B5HNT 137 279 23 2 R 320 30 13 7 3 3
24 =tEHB/EH eEu 95 246 15 0 L 282 28 12 9 3 3
10 palEfIE 2 Bh HNX 114 292 20 1 LS 335 31 13 2 3 5
9 BaHET LY 111 246 3 7 L 282 5 18 5 4 3
2 INGRIEAKR BHhEh5 83 242 5 1 LG 277 11 13 3 3 4
23 iAW N NEo 53 175 0 7 L 201 0 24 4 5 3
51 SRR YY=3 74 246 1 1 L 282 2 13 5 3 3
00 FAHNEIE 655 73 178 0 6 R 204 0 24 5 5 3
8 FAESAN] 1zIC 83 274 0 2 R 314 0 14 7 3 3
12 Fir NN gIE 90 190 0 18 RLS 218 0 24 8 5 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
15 =R ThT5 29 200 7.83 200 RO 240 151 129 56 9 5 2 5
26 NiEE 3D 28 185 2/3| 6.98 170 LO 200 143 119 53 6 9 0 7
17 EREFIE ESD 31 161 6.43 350 RO 410 145 129 43 7 3 1 3
35| PEAHEAER (L5 37 1231/3| 6.64 180 RO 210 148 144 30 9 9 1 6
13 SARER feheE 46 36 1/3| 594 370 LO 440 143 124 22 4 7 1 3
47 Ll Ogktts PERLH 60 61 2/3| 5.55 180 LO 210 149 130 26 8 10 0 5
41 |1. ZILNSTR| HBEST 46 511/3| 771 250 RO 290 149 119 30 9 5 2 3
11 ANR4A1 <IZ 67 69 8.74 120 RO 140 144 132 30 13 9 0 9




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 2.026 %% | 310 137 146 | 380
FIRDHIEREL 1.146 ub 276 22 17.0 2.88
FAHAEIER (Z{LEK) DFEIERER 1.423 B 297 159 15.5 3.34
F 55 5
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR (T) (3., [HE (&) x 0.9 | ZIHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
9 M ~NY—bh> F—EA 142 311 13 6 R 356 24 15 9 4 3
5 L8R — [6.1510D) 142 295 1 6 L 338 2 16 8 4 3
1 BEAH EDFEIC 144 300 5 16 L 344 9 21 6 5 3
25 RS H5LN 144 269 17 5 R 308 31 15 5 4 3
67 C. J3tIL SABE3 120 282 16 0 L 323 35 12 3 3 2
3 BAARE KER gEEL 100 263 2 0 R 301 5 12 4 3 3
6 SARIE Ay ALt 122 218 12 1 L 250 26 13 7 3 0
50 BHEA SO 99 223 2 1 R 256 5 13 2 3 4
00 LEMREETE vl 104 271 0 7 LS 311 0 18 8 4 3
4 AR SREL 67 250 3 8 R 287 12 24 4 5 3
7 BN LwA T T 108 242 1 5 R 277 2 17 8 4 4
31 MRELBD DA 63 167 1 1 L 191 4 14 7 3 3
24 SLLIE R BB OFE 69 274 1 0 L 314 4 12 9 3 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
14 REEREY DOH 29 200 1/3| 8.36 250 LO 360 146 124 57 4 6 2 4
21 =0 (AYS) 25 169 7.08 230 LO 330 145 129 54 4 6 1 4
55| J. R Vv | 91zADU 25 151 6.91 290 RO 420 150 129 49 7 3 2 2
54 |R Xvt>sv—| HEFAU® 25 150 7.32 290 RO 410 148 134 49 7 3 1 3
28 1BIEE SKIE5 55 48 2/3| 10.91 260 RO 370 145 126 30 7 4 3 4
13 Bl ADEE 62 63 1/3| 10.09 230 LO 320 144 131 30 5 7 3 4
12 N Y O) [ AVAN 56 54 2/3| 593 200 RO 280 145 132 26 8 5 1 5
22 %) BRI SUHMD 56 51 14,12 120 RO 180 151 129 30 10 8 5 7




N A | o | P
e | x@T | B2 |
| : 15
AEFTBOMIEFE 1.759 %R | 292 70 158 | 3.90
FIRDHIEREL 1.146 ub 290 35 14.6 4.45
FAHAEIER (Z{LEK) DFEIERER 1.326 B 291 105 15.3 418
F 55 B
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR () (2. [ERE GE) x 0.9 JETHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
2 SR OHWUT 137 278 0 8 LS 319 0 17 4 4 3
66 MRS FH5 106 259 0 3 L 297 0 15 6 4 3
26 i [0 ) A 73 271 2 2 R 311 6 15 9 4 3
5 EREK <DE5 144 293 17 0 R 336 27 12 3 3 3
63 FUEE F3 131 241 9 9 L 276 16 19 8 5 3
35 B /\—F> (—TA 64 281 3 0 R 322 11 12 5 3 3
49| XKBZ=—EB HFEP 100 210 1 8 L 241 2 22 7 5 3
31 AFEEE wuiEs 110 201 4 2 R 230 8 14 2 3 5
10 EARED Lhte 60 223 3 0 L 256 11 12 7 3 3
37 MILEE EIPARES 68 270 3 0 L 309 10 12 9 3 3
38 TE AN HMNED 80 260 1 19 RS 298 3 24 8 5 3
4 INEHEM ZLIZF 65 261 2 1 R 299 7 13 5 3 3
25 HHBER LLLY 61 250 1 0 L 287 4 12 6 3 4
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
18 BIEEKR FRZ@US 31 216 8.00 250 RO 330 148 126 57 10 4 2 4
42| B.)\U>R> EOAEA 30 204 1/3| 5.99 240 RO 320 147 127 54 8 4 1 3
91 =7 A V7:5) 18 99 1/3( 7.97 270 RO 360 144 128 47 7 4 2 3
11 fBHMED <0 27 146 1/3| 7.38 410 RO 550 146 125 45 5 3 1 3
16 SKIZE WEDS 54 94 7.28 470 RO 620 148 121 30 4 3 1 2
47 = NSTIN b= 76 55 6.38 330 LS 430 140 107 22 6 9 1 3
48 ARG =ZUBE 42 451/3] 9.13 420 RO 550 145 131 30 4 3 1 4
58 D. bO75 S5 T 57 60 2/3| 12.16 130 RO 180 154 131 30 9 6 5 5




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 1.561 %% | 286 112 139 | 548
FIRDHIEREL 1.146 3 284 17 124 2.95
FAHAEIER (Z{LEK) DFEIERER 1.249 B 285 129 13.3 421
F 55 D
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR () (2. [ERE GE) x 0.9 JETHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
7 A HEE (Aya)0) 125 260 0 12 L 298 0 21 6 5 3
2 TENE AN I O) [t 2 VAN 126 266 1 7 R 305 2 17 4 4 2
3 T ALwvw> o0 95 260 20 0 LS 298 43 12 7 3 2
25 ME{E— D51 144 253 20 0 R 290 28 12 5 3 4
42| B.)\—)\— (E—(F— 103 278 9 0 L 319 18 12 3 3 2
1 SINFEE FAULS 108 272 3 1 RL 312 6 13 8 3 4
31 SHRRE KLD5 81 200 5 0 R 229 13 12 9 3 3
36 AL BRES (FEPEE 84 208 1 0 R 238 2 12 2 3 4
50 TERRSK ULEZED 85 265 4 2 L 304 10 14 9 3 3
23 BE— AUz 96 303 1 0 L 347 2 12 4 3 2
99 Ao IE YA RLS) 62 209 1 0 RG 240 3 12 3 3 4
39 IR HE R RULED 99 223 1 0 L 256 2 12 3 3 3
00 FEEHE A L\RE 61 238 0 0 L 273 0 12 5 3 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
18 =R D5 18 1111/3| 5.98 290 RO 360 142 128 49 8 5 1 4
22| SIBMEKER feheE 29 177 1/3| 6.45 350 RO 430 146 128 49 7 3 1 3
20 JBRZTEX 9z 17 85 5.51 530 RO 660 144 129 41 4 3 1 2
15 LUARARE YEEE 21 79 5.70 590 LO 740 138 128 32 3 3 1 2
34 ERET LDIE5 67 44 7.16 180 LO 230 142 120 24 5 8 2 5
41 KEIES] BBEEFSL 71 441/3| 731 310 LO 380 142 127 24 4 8 2 3
27 STRRIEARER ZUb 65 56 2/3| 6.04 210 RS 260 147 137 24 7 5 1 5
11 Iy PERLH 59 611/3| 7.04 250 RO 310 150 128 28 6 4 1 4




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 1.982 %R | 304 121 183 | 295
FIRDHIEREL 1.106 ub 263 67 16.6 2.33
FAHAEIER (Z{LEK) DFEIERER 1.408 B 288 188 17.6 2.64
F 55 v
KB EDNEIT— 42 130 HA g
KEFEDERT—4(% 144 A SERE () (., [BRE GE) x 0.0 JETHERA.
\ FADR | corm | T2 | 55 | RE | POE 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
52 JIEF = Al MheE 144 267 1 31 LS 295 2 24 6 5 3
46 ANZhfE— FATE 144 305 0 60 L 337 0 24 4 5 2
24 NI 1EE— SHEHHD 114 338 12 4 R 374 27 15 7 4 3
9 IZNA RGBS oLIF 98 269 10 0 R 298 26 12 3 3 3
6 ZR{ZE =5 100 241 4 1 R 267 10 13 9 3 3
5 yNER =0 FDOJZ 144 282 25 27 R 312 45 24 5 5 4
30| E&Eh (FEHH 125 293 4 13 L 324 8 21 8 5 3
27 = (FEHDD 97 201 1 1 R 222 3 13 2 3 5
42 A HJLS hsns 89 225 10 0 R 249 29 12 3 3 3
3 MHEE FORM 88 308 12 0 L 341 35 12 7 3 1
37 BHEFBE SN2 97 252 1 22 L 279 3 24 8 5 2
62 LIRS 2 PoFEIEF 86 189 0 0 R 209 0 12 2 3 5
23 INFRRERE =TECA 108 214 0 10 L 237 0 23 8 5 2
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
47 FZREEK gE55 23 1711/3| 9.30 190 LO 270 143 119 61 5 9 3 4
21 FEZ% nre 26 184 2/3| 8.19 150 LO 210 141 124 58 6 10 2 5
50 BEIE oD 26 177 2/3| 7.60 280 RO 390 143 128 55 6 4 1 4
54| D./k=)Lb> | (F—DEA 26 172 1/3| 6.32 220 RO 310 142 131 53 9 4 1 4
00 I E ] KU 40 371/3| 554 240 RO 340 143 133 24 7 6 1 4
19 REE EN/HL 60 552/3| 7.28 110 LS 160 138 121 28 9 15 2 5
51 AN WNRED 53 431/3] 6.23 170 RO 230 145 126 24 12 6 1 5
25 |B. DL iR—| SmsDITA 53 50 2/3| 14.03 140 RO 200 153 127 30 8 6 5 8




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 1.878 %R | 284 132 161 | 368
FIRDHIEREL 1.106 ub .258 40 13.8 2.30
FAHAEIER (Z{LEK) DFEIERER 1.370 B 274 172 15.2 2.99
F 55 B
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR () (2. [ERE GE) x 0.9 JETHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
2| B.XR5—J)LX | 917—39 80 261 9 2 RL 289 27 14 4 3 3
24 RN &5 141 274 6 19 R 303 10 24 9 5 4
7 RH=S L\ELY 137 319 11 31 L 353 20 24 8 5 5
6 R Ff Rz 143 237 18 4 R 262 31 15 7 4 4
41 fEEEEERC LR (E 137 262 12 4 L 290 21 15 3 4 4
5 INGEFR— it eli)) 129 237 5 1 R 262 9 13 5 3 3
28 KEFEE K HED 102 227 3 0 R 251 7 12 2 3 4
8 EFih ya)Y Atas 98 234 3 0 R 259 7 12 6 3 3
9 [ M. 7RJ)VD— | (FSEH— 122 222 12 0 L 246 24 12 3 3 2
22 e IEH LYy 76 238 1 1 R 263 3 13 2 3 5
45 SiEEE (A2, 84 240 0 3 L 265 0 16 5 4 3
23 7 =57 cHEM 55 282 3 0 R 312 13 12 5 3 3
4 LA (AAReES 99 183 0 3 R 202 0 16 4 4 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
11| H)LEY> a8 | 3L 28 232 10.71 140 RO 200 152 128 69 12 7 4 5
38 W =ali7) ez 25 164 2/3| 4.76 250 LO 340 132 116 51 6 8 0 4
31 B. rw~JL 7R3 26 162 3.67 320 RO 440 147 134 47 5 3 0 2
10 B. )LD DB/ 26 150 5.40 360 RO 490 149 144 46 6 6 1 2
43 B FIUL 56 532/3| 973 180 RO 250 149 131 30 6 5 2 6
25 =Y e (L 61 53 9.51 220 LO 300 146 124 30 4 9 3 3
15 H[ERER THhEES 60 59 2/3| 543 170 RO 230 142 130 24 11 5 0 6
21 HEA e 53 521/3| 4.82 100 RO 140 141 130 24 13 12 0 6




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 1.934 %R | 289 170 166 | 4.23
FIRDHIEREL 1.106 ub 238 20 15.6 3.25
FAHAEIER (Z{LEK) DFEIERER 1.391 B 269 190 16.2 3.74
F 55 B
KB EDNEIT— 42 130 HA g
KEFEDERT—4(% 144 A SERE () (., [BRE GE) x 0.0 JETHERA.
\ FADR | corm | T2 | 55 | RE | POE 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
1 FEIH <OY>FE 144 307 3 6 L 340 5 15 8 4 3
43 [E¥Rt 5 104 241 0 0 L 267 0 12 4 3 2
3 HERZ AN VES 144 297 16 21 R 328 28 24 6 5 3
60 AT YA RLS) 144 269 48 4 R 298 84 15 5 4 2
52|). JIILF>FTR| S\zdDRA 142 259 17 3 R 286 30 14 3 3 3
32 AR HED5 137 268 9 7 R 296 17 17 7 4 4
2 #R{"EA FALARS 122 218 2 4 R 241 4 16 2 4 5
55 LS HEOE 110 232 1 8 L 257 2 20 9 5 3
7 FEZZ wNzsh 86 230 1 22 R 254 3 24 4 5 3
31 IREE ahyfz 71 233 2 0 L 258 7 12 9 3 3
49 TrREZ py&sle 44 150 1 1 RG 166 6 16 2 4 4
8 T E i [615Y:5) 56 211 1 0 R 233 4 12 3 3 2
58 REVEEA <EULA 81 250 0 2 R 277 0 14 9 3 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
18 BHBE H<LY 26 178 1/3| 5.45 290 RO 410 144 128 53 7 4 1 3
11 =4 =L 21 135 7.07 380 RO 530 144 111 52 6 3 1 2
47 REF0S= (FHU 26 168 2/3| 5.44 280 LO 390 140 131 51 4 4 0 5
13 st () 22 140 6.69 260 RO 360 144 125 51 7 5 1 4
26 SEFEE FLD 37 201/3[ 885 270 LS 370 138 120 26 4 8 2 3
23 ST HAEZ 49 68 1/3| 5.27 200 RO 280 142 130 30 9 7 0 5
59 EIAREER BEEED 49 551/3[ 6.51 210 RO 290 144 130 28 7 6 1 5
35 ®WEFIA F=r= 55 127 2/3| 6.06 260 RU 360 131 116 30 6 4 1 4




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 1.607 %R | 282 103 151 | 363
FIRDHIEREL 1.106 ub .260 34 14.8 2.50
FAHAEIER (Z{LEK) DFEIERER 1.268 B 274 137 15.0 3.06
F 55 B
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR () (2. [ERE GE) x 0.9 JETHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
9 O£ pE Ihs 144 297 3 5 L 328 4 15 8 4 4
10 KEIER PBHU=E 127 244 1 3 R 270 2 14 6 3 3
1 BEBAE cES 130 312 8 14 L 345 13 21 4 5 3
55 T—[EHE T—8BhE 134 260 16 4 L 288 25 15 7 4 3
52| A JULTAUR| (EBTOT 137 267 18 2 R 295 27 13 5 3 3
3 e LY 122 201 15 0 LS 222 26 12 3 3 3
4 S HHE 77 305 0 0 RL 337 0 12 9 3 3
54 {REE L&D 66 156 2 3 R 173 6 19 2 5 5
33 AT =<5 62 273 0 3 R 302 0 16 9 4 4
23 1b) 1 1158Y =ehh 51 258 1 0 R 285 4 12 3 3 4
5 M. NANY> NI FA 48 192 6 0 R 212 26 12 3 3 3
44 FAERE gI9E 89 204 0 3 R 226 0 16 2 4 4
2 LSS oFxeEF 48 247 1 3 R 273 4 18 6 4 4
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
19 SFF= 2 AR @S 20 1551/3| 7.13 240 RO 310 145 129 62 7 6 1 4
20 FEREAN THlEFs 25 170 1/3| 5.92 310 RO 390 150 135 54 7 4 1 3
49 g l[Et AN EES 28 156 1/3| 6.85 290 LO 370 144 119 46 4 7 1 3
63 TS tE (CU 25 130 2/3| 7.30 300 RO 380 145 130 44 7 4 2 3
17 EHERAEX o= 46 34 3.97 210 RO 270 139 137 18 6 9 0 5
16 EEHEHE [6,1510D) 72 83 2/3| 10.65 190 RO 250 151 130 30 6 5 3 5
48 ELaE KLD 50 301/3 771 120 LS 150 135 128 24 11 14 2 6
18 FHE =072 68 69 9.65 260 RO 330 146 130 30 5 4 3 3




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 1.860 %% | 283 66 176 | 318
FIRDHIEREL 1.106 ub 262 36 14.4 3.80
FAHAEIER (Z{LEK) DFEIERER 1.364 B 275 102 16.4 3.49
F 55 C
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR (T) (3., [HE (&) x 0.9 | ZIHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
32| MFIRTER FDOUL) 139 260 9 15 RL 288 16 22 6 5 3
0 R B S505 123 271 1 31 RL 300 2 24 4 5 2
4 SEFN ehg 128 277 1 5 R 306 2 16 5 4 3
7 LLIF ) PoFeE 102 229 11 0 R 253 26 12 3 3 3
00 ==Y SH=N _RHhEH5 91 271 1 0 L 300 3 12 7 3 3
25 t&) 582 KTh'hH 94 224 4 1 L 248 10 13 9 3 3
37 IBE 7 LE 129 224 2 7 R 248 4 18 2 4 5
23 B0VEER ouhEn 144 288 2 52 L 319 3 24 8 5 3
50 L H)L>7 3L 88 261 8 1 R 289 22 13 3 3 3
46 R TR 91 228 1 5 L 252 3 18 9 4 3
12 =LYy N ] 1)) 92 246 2 3 L 272 5 15 5 4 3
63 SHEBEA FEZ 76 268 2 2 R 296 6 14 7 3 3
1 EAEAE LHH5 77 183 0 0 L 202 0 12 5 3 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
18 EElE=E N =1 27 226 1/3| 9.58 130 RO 170 151 134 68 12 9 3 6
21 ERAE LWH<E 17 119 6.81 240 RO 330 147 127 56 8 5 1 4
11 EREF LHEH 24 154 2/3| 6.58 290 LO 390 146 124 52 4 6 1 4
30 KIS TaHv 16 102 2/3| 6.75 280 RO 380 143 123 52 7 4 1 4
41 SUE— HPI°FE 51 71 8.11 280 RO 380 142 127 30 8 6 2 3
28 FrIUtEE VAN R eF=S 59 57 2/3| 8.58 340 LO 470 144 122 30 4 6 2 3
57| /ML —ER CYoFE 50 68 2/3| 6.68 290 RO 390 148 126 30 6 4 1 4
17 D. SXF+— 59— 34 53 7.81 200 RO 280 146 138 30 6 5 2 4




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 2.079 %% | 280 83 156 | 4.60
FIRDHIEREL 1.106 ub 237 20 14.2 3.55
FAHAEIER (Z{LEK) DFEIERER 1.442 B 264 103 15.1 4.08
F 55 E
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR (T) (3., [HE (&) x 0.9 | ZIHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
66 FEHEZEX FRyAN = 144 267 0 41 L 295 0 24 8 5 3
5 FEEEAK (RS2 Al 126 261 2 32 R 289 4 24 9 5 3
6 HO&{” L<H 140 265 9 1 R 293 17 13 4 3 4
25| ). hAT«4—3 | "9 T—&K 86 269 5 0 R 298 16 12 3 3 3
8 SITER LWEX 134 269 8 2 R 298 16 13 5 3 3
1 BHEER L 78 244 3 2 R 270 10 15 7 4 3
22 BIFE TEIF 109 222 5 0 R 246 12 12 2 3 5
32 Boie— nREE 68 228 2 0 L 252 8 12 6 3 3
9 fEEm e Ls) 116 223 3 0 L 247 7 12 3 3 3
61 At ANCAVAN 51 266 0 2 L 294 0 16 7 4 3
10 NGB HBBED 64 213 2 0 L 236 8 12 7 3 3
40 FEOIEAN YOl AVAN=S 54 171 1 0 R 189 5 12 6 3 3
3 THREFEAN <ES 53 200 0 3 LS 221 0 19 9 5 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
17 AR 3= 26 189 2/3| 7.17 330 LO 470 141 123 58 3 6 1 3
19 EES MSH0D 24 168 1/3| 6.52 240 RO 350 139 124 56 9 4 2 3
31 DN y o)AV 24 132 2.93 370 RU 530 127 93 41 6 3 0 4
14 KEEA Y ny ul (8 34 120 5.85 340 RO 490 143 133 31 7 4 1 3
12 SR8 KUFH 24 46 6.65 370 LO 540 139 124 30 3 6 1 2
99 | HJLOR-O0Y A 62 73 2/3| 5.86 210 RO 300 152 137 28 6 4 0 6
30 {REEERSA L&D 50 55 7.85 230 RO 330 146 131 30 10 4 2 3
49 BETE PN 53 56 2/3| 9.05 180 RO 250 148 127 30 5 5 1 6




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 0.995 %FE | 21 72 153 | 553
FIRDHIEREL 1.040 ub .268 17 13.0 4.38
FAHAEIER (Z{LEK) DFEIERER 0.997 B 270 89 14.4 4,95
F— LT Rh E
KB EDNEIT— 42 130 HA g
KEFEDERT—4(% 144 A SRR () (2, [HRE () x 0.9 JETHEFA.
\ FADR | corm | T2 | 55 | RE | 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
8 FEER N — ULEN 129 264 17 2 L 275 17 14 9 3 4
4 SEFEN =g 87 278 1 15 R 289 2 24 4 5 3
3 == Ludsh 123 282 11 0 R 293 11 12 5 3 3
7 LLIF ) PoFeE 125 266 27 0 R 277 27 12 3 3 3
9 EEYhE eh@o 95 217 7 2 R 226 10 15 7 4 2
23 Ea =AY ) 107 287 0 7 L 298 0 18 8 4 4
0 SEHERE YN 111 255 4 2 R 265 5 14 6 3 2
31 BHEA SO 120 232 0 1 R 241 0 13 2 3 4
42 L. ORA ARG 125 223 13 0 R 232 13 12 5 3 2
32 punl[=pE:::| HEE5 68 313 1 3 R 326 2 16 6 4 2
25 = ST 68 310 1 1 R 322 2 13 7 3 2
61 JINOFS nMo<s 71 263 0 0 L 274 0 12 7 3 3
39 A E VA RYS) 68 180 0 0 R 187 0 12 2 3 4
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
21 ERAE LVO<E 27 182 1/3| 6.12 500 RO 500 147 127 53 6 4 1 4
54 K. 7Rw= X FoU9 18 95 3.98 640 RO 640 144 138 41 3 3 0 4
11 —iZuEsh WsIE 23 102 6.35 560 RO 550 150 132 37 5 3 1 4
26 BHIEA HD& 37 125 6.34 520 LO 520 144 122 30 3 6 1 3
28 SHBE ez 25 881/3| 4.89 600 LO 600 136 118 30 4 7 0 4
49 SHEE KU 50 47 2/3| 8.12 340 LO 340 143 133 30 6 6 2 5
57| /ML —ER CYoFE 30 42 9.86 450 RO 450 148 126 30 6 3 2 4
15 R IES S<ED 49 63 5.14 360 RO 360 143 138 28 5 5 0 8




N A | o | P
e | x@T | B2 |
| : 15
AETBOW EHREK 1.261 %R | 298 107 154 | 3.00
FIRDHIEREL 1.085 ub 209 20 134 243
FAHAEIER (Z{LEK) DFEIERER 1.123 B 264 127 14.6 2.71
F 55 0
XEFFDREIT— 43 130 HA iSRS
KEFEDERT—4(% 144 A SR () (2. [ERE GE) x 0.9 JETHEFA.
\ FADR | corm | T2 | 55 | HE | A 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
6 HH= nre 144 278 0 1 R 302 0 13 4 3 3
00 g% AN RRES 143 287 4 16 LS 311 5 22 9 5 3
1 T AYU— HED— 121 325 16 3 L 353 22 14 5 3 3
42 3. )8FaLvy | (EB5L£NnK 141 311 24 0 R 337 28 12 3 3 3
3 J\ARIE oF 141 267 23 9 R 290 27 18 7 4 3
63 FERIE LAULS 104 278 12 5 R 302 19 17 8 4 5
8 AEB=E <G 132 245 0 4 LS 266 0 15 6 4 2
27 LIRS PFEE 124 204 4 0 R 221 6 12 2 3 4
16 EREfm YA = 76 189 2 1 R 205 5 14 3 3 3
55 Y EERDR =535 64 237 1 1 L 257 3 14 9 3 3
7 ESHE FDH 74 208 1 0 R 226 2 12 9 3 3
22 RETRE =& 69 150 2 1 R 150 5 15 2 4 4
0 hEEE VAGANOD) 79 192 2 0 L 208 5 12 9 3 2
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
99 A {H R H 28 200 2/3| 4.98 240 RO 270 141 122 55 7 8 0 8
34 {hE=EF) THVE 35 217 1/3| 8.03 250 LO 280 140 119 52 5 9 2 5
15 S RTELER Oyv Al 27 146 2/3| 8.35 280 LO 320 139 120 46 5 8 1 8
18 FFHES) D 26 123 2/3| 7.42 300 RO 330 137 121 41 5 5 1 8
56 fHFLeE FHUIE 29 59 2.90 150 RU 170 128 116 30 8 8 0 5
14 SEEE WDFH I H 51 80 6.19 140 LO 150 139 124 30 11 10 0 8
19 =Ry TR U 31 392/3| 7.26 480 RO 530 138 120 30 5 3 1 3
36 RENED)] =5 24 41 11.63 110 LS 120 138 119 30 13 14 6 9




N A | o | P
e | x@T | B2 |
| : 15
AEFTBOMIEFE 1.025 %R | 304 172 166 | 3.65
FIRDHIEREL 1.085 ub .258 26 18.2 3.55
FAHAEIER (Z{LEK) DFEIERER 1.012 B 286 198 17.2 3.60
F— LT Rh v
KB EDNEIT— 42 130 HA g
KEFEDERT—4(% 144 A SERE () (., [BRE GE) x 0.0 JETHERA.
\ FADR | corm | T2 | 55 | RE | POE 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
2 LN LWNE 137 294 8 36 R 319 7 24 8 5 4
10 S H5LN 102 252 5 4 L 273 7 16 7 4 3
27 SHEE Bz 144 316 33 3 RG 343 31 14 2 3 5
8 R7EE OAEh 144 276 27 3 R 299 25 14 3 3 3
44 1.)\DOI)L (F5%23 124 331 42 3 L 359 45 14 5 3 3
1 SRS (ABReFS 140 279 33 14 R 303 31 21 6 5 3
26 EJ=I= (&= 123 251 16 5 L 272 18 16 9 4 4
42 1. JWWFX 0T 58 242 3 1 R 263 8 14 4 3 3
00 e s U&LD 91 223 0 11 R 242 0 24 8 5 3
4 BIEER EFLD 80 257 1 9 RL 279 2 23 4 5 3
38 TABBHIE el =V 65 287 7 2 R 311 14 15 7 4 3
31 B 55 (FUHH 118 227 7 5 R 246 7 17 9 4 2
5 AETX I H@5N 87 197 2 0 R 214 3 12 5 3 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
29 TEAEER (LS 31 200 2/3| 5.56 400 RO 400 143 121 51 6 4 1 4
15 FEME— EMNEL 34 197 5.98 300 RO 300 143 122 47 7 7 1 6
18 BELE L\ED 29 146 5.24 280 RO 280 140 118 40 7 6 1 5
34 =EF eho 18 91 6.13 480 RO 480 145 121 42 5 2 1 5
20 AR AE] _’hbsE 32 44 2/3] 4.63 380 RO 390 139 122 28 6 2 0 6
45 ARE IHQH 46 391/3| 847 320 LS 320 136 117 28 2 7 3 2
41 SRRE JANAYLY S) 40 732/3| 9.04 340 RO 350 137 120 30 7 5 3 4
24 N =1T RUNEDS 35 71 6.72 360 RO 360 142 121 30 8 3 1 6




N A | o | P
e | x@T | B2 |
| : 15
AEFTBOMIEFE 0.804 SR | 306 172 145 | 3.93
FIRDHIEREL 1.021 ub 272 23 15.6 2.85
FAHAEIER (Z{LEK) DFEIERER 0.897 B 293 195 14.9 3.39
F— LT Rh v
KB EDNEIT— 42 130 HA g
KEFEDERT—4(% 144 A SERE () (., [BRE GE) x 0.0 JETHERA.
\ FADR | corm | T2 | 55 | RE | POE 5B | 96 | =
f| BFE | oy | B8R gy | xeyg| E2 |TR| g |xeyg| 7 | g | 5 | F
7 ESHAE FDH 132 322 38 9 R 329 30 17 9 4 3
1 shEHESR [0 %)= 94 296 6 2 R 302 6 14 8 3 3
44 R J{—X F—9 140 350 60 1 L 357 45 13 3 3 3
31 HMRitEZ AN AN 144 300 44 3 LS 306 32 14 5 3 3
16 [ERE2 7 EHE 141 342 39 8 R 349 29 16 4 4 3
9 EEFALGF D 133 288 14 1 R 294 11 13 7 3 3
30 TEHEPESE [0 5= 138 261 8 7 RS 266 6 17 6 4 2
22 ARERE =& 114 241 14 0 R 246 13 12 2 3 4
5 JEATEES FeD5 126 262 3 23 R 268 3 24 8 5 4
38 3= PFEMD 53 213 4 0 R 217 9 12 2 3 4
8 STEE Lurelr 131 247 2 8 L 252 2 18 8 4 3
3 RIFE— RhiE=E 75 283 7 0 L 289 9 12 3 3 3
37 KEZRE EyR\Yin) 61 327 0 0 L 334 0 12 6 3 3
\ B | oon o 2R | 5 ([ P8 | 52 [ B2 [ 5 | & | & | & [ +
f| EFR | (G | MEE | BB T | pae (|25 | paw | @) | 0@ | 3 z | =2 | s | =
45 R 1)L (Fud 33 190 2/3| 5.95 430 RO 390 138 122 46 4 3 1 4
18 St EREH LTE 32 151 2/3| 4.87 450 RO 400 139 121 38 5 4 1 4
20 {REESCPE L\ED 25 115 2/3| 4.59 450 RO 400 143 127 37 6 3 1 3
28 R ERA Rz 31 1231/3| 343 420 RO 380 136 121 31 7 5 0 4
12 1EMEIm IRES 58 104 1/3| 5.18 410 LO 360 132 116 30 5 5 1 3
24 {cREESS B [ a) 37 351/3| 4.33 330 LO 300 138 121 22 5 5 0 7
25 LLUAFD4T PFEEE 33 50 7.38 270 LO 240 139 121 30 13 6 0 9
19 hEEite TN UL 63 107 2/3| 6.94 270 RO 240 138 120 30 9 5 1 6




